
Sentence Jumbles Questions Overview
Sentence Jumbles Questions have a good weightage in the Banking Exam and the type of question asked in Banking

exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried

to elaborate the concept used in Sentence Jumbles Questions.

Question
Rearrange the following sentences to form a correct passage. A. The national capital too is fast becoming one huge

garbage dump with civic body sanitation workers on a strike to protest against non-payment of salaries. B. For instance,

Mumbai literally raised a stink recently when a fire broke out at the Deonar landfill, severely compromising air quality in the

city. C. When it comes to waste management in India, little is the way it’s meant to be. D. There are various issues

stemming out like saturation of landfills, informal waste-workers, health hazards, so on and forth.

Difficulty : Moderate Average Time : 51 Seconds

Options :
1. DACB

2. CDBA

3. ABCD

4. BCDA

Solution
The correct answer is option 2, i.e. CDBA.

1. Sentence C gives us an introduction to the passage, which is waste management. No other sentence here gives us

any basic introduction whereas they denote some continuation of a sense or meaning.

2. Sentence D gives us more information regarding waste management, prevalent issues to be specific. It cannot

begin because it does not introduce us to any basic idea before addressing the issues. Hence, it will occur later in

the passage.

3. Sentence B starts with the introduction of an example by using the prefix 'for instance'. This means this will come

later in the passage to support the argument made by the earlier sentences.

4. Sentence A would be the conclusive statement as it provides another example but with an adverb 'too', which

means it wants to further add to the meaning of the previous statement. We can tell it is the end statement as it

mentions the 'national capital too' after the mention of 'Mumbai' (state after state).
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This arrangement makes perfect sense entirely and gives us a sequential meaning, hence becoming the correct answer to

our question.
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